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Introduction
At RAN1#86, it was agreed that a resource-block in the frequency domain is either 12 or 16 subcarriers with a final decision taken at RAN1#86bis. 
Discussion
A resource block (RB) defines the smallest schedulable unit in the frequency domain. It is also likely that reference signals are defined based on the RB structure with the same placement of reference signals (and similar signals) in each RB. Obviously, there are pros and cons with the both of the choices, 12 or 16 subcarriers. 
· 12 subcarriers result in a finer granularity in the frequency domain and may result in a higher utilization of the overall spectrum. It is also aligned with the RB size in LTE which may be an advantage in some situations.
· 16 subcarriers have the benefit of being a power-of-two. It has been argued that this provides a benefit in terms of reference-signal design for spatial multiplexing. However, 8-layer spatial multiplexing has been part of LTE since Rel-10 without any major issue.
Based on the above, it is suggested to adopt a RB size of 12 subcarriers in the frequency domain for NR.
Conclusion
It is suggested to adopt a RB size of 12 subcarriers in the frequency domain for NR.

